W aim paite ] £ « -

\G 1
\/Nuw QP e @m&«fozwmpmbw'

Suppot. e have L profaten
Midmize g = 21~ 220+ £%3

subject o w e wy
bt T4, = VS
[13%) — 45 +525]  £13

’119')(2_7, 0, X, Mxn%Uﬁvf‘pQ-uJ\ 'y 54'?%,'

fo Lueq e problmn o gdrm,,\oﬂfmi ma [vuizatin,
We. o Wyite  — vyt Frg +A%3215 aw.
— Lyt Tay ~ Py, Rk
TEN ATy g Xy £ |5
omd e o Lintte.
= 12|

4

3% ~4wy A 5uy) 23
-._4 :
Yo i Dag, £ 137 "rg‘l)"t‘i]'}/g_* Sxy4l:

Neow We Cone  Frele. ﬁLL wam, [ o Ynaizatoy

]%rm s

TNy % & ¢

—

G'X[’f‘?’)p__-&—q'x_s ‘7/ | 5~
6% ) HTag ¢ 4,

—_—

1% ¥ - =IE
T Ry 02

2. -
LpYa 20 /s wmPdideed m»-i“-a«»_

Scanne d with CamScanner



. de deciston vau bl
lnet Jm Ty iy Unreshacked I mgn. PO LECOn
Yelerlbe~1F a4 tiube Ay = %5~ \34 b o %913476"

We alos bmle s\gf?'x’gf:vl_

50 e com vasmte  tue problewn (9 WMLF

Mo 1 vnd 2edy ot Fﬁm -

e ) =
Maximize 2'- -7 - _ ,Q-ﬂl 9 ,;\ofcta,;\- 634+O-55’
40y, to. yq 40.9et0-Yg
.gu_lq‘ec,-l' Jﬂ—‘.

"%-:-"-'1“‘ﬂ::’"t'"¥r;,_%jq =6

“ V) Y, 4 g = 14 % Ye
- 5

-'"'(;‘Lj ._1?\, _.]f :c
T Ty, 44y, -4 Y4
|2y — 2 - -Hj:] .
29~ 4y, T 5y Ly I3
; i 8 - 15
- | ":‘ji 'T'L{V)__g\j:‘; I L S
‘-— -

& . A%
YinYs) Yy, Hay Y5y e, 17, 08,9970,

¥s, N g, 9,99 ~ lack vemabl,

\d 8 - ._‘_tLP(J.,m- Vi :\,IJL(-_

Scanned with CamScanner




